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System of equations

Throughout the presentation, terms in bold indicate that the corresponding term is a single variable included
in the code. For instance, pv (a value) indicates that p (price) and v (volume) are separate terms, whereas pv
is a single value item. When this is done, an additional identity v = pv/p (or alternatively p = pv/v)is added
to the code. In order to save space, these equations are not shown in the document. In this version, the items
belonging to the production account (other than value added) are taken as given, so that the supply side is not
modeled. The variables pf _, If5, pfl. and I{; are exogenous.



Financial institutions

Non-Fin. Government Households + Rest of the
Corporations Banks Banque de NPISH world
France
Asset Liab. | Asset Liab. Asset Liab. Asset Liab. Asset Liab. Asset Liab.
Produced non-
ANF1 | financial assets Pl Kl pi.KD PiKT piK
Inventories (12) + FowF F pF Pic,, KT
ANFiz | aluables (13) Piy K12 Pk, K12 ph KL,
Non-produced non-
ANF, finangial assets 29 PiK? PiKE 2
F, I\S/Igrl;itary gold and pCBGEB pCBGEB
Bills and coins HF HE H H HR
Refmancmg _bet_ween RF RFCE RER
financial institutions
E, Bank reserves RES RES
Govt. account at CB DfPe DsPe
Target 2 TRGT?2 TRGT2
Deposits DY D DE DSB DEB D§ Df D} Df Df
Public securities PriB, ¢ PsiB;° 5 0B, g, Bf pRCBL°
Fs | Foreign securities 5B, " PeRB" oR B, " patB* Py B, " pg BR
Other securities vg,Bf | vs,Bi | ps,Bf | psEBS® p§,BS ph, BY pi BX
Fa Loans A L¥ I3 LSE LY I LR LR
Domestic] Equity and
Rl o e e I R e o I Ph. 5k
Fs [Foreign] Equity and
inv. fund shares N PeREL" FoRELH PeRESR PEREL" pR ER
issued by RowW
Insurance. pension
Fe funds and sF.’g.s. AL AL A Al AL
Fin. derivatives and
F, employee stock X5 XE X§ X} XR
options
= Othgr accounts 7F 7B 7B 76 7t 7R
8 receivable/payable
F Financial wealth 274 FW?® FW¢B FW¢ FwH FWR
B90 | Net worth WLTHF WLTH® WLTHCE WLTH® WLTHY WLTHR

Closes the column (sector) in flow

The unwritten identity is described in Equation 271.

Closes the row (instrument) in flow

The closure for the government is the sector’s total indebtedness (ngBf + L), described in Equation 323




Non-Fin. Financial institutions Government Households + Rest of the
Corporations Banks Banque de NPISH world Total
France
Asset | Liab. Asset Liab. | Asset | Liab. | Asset | Liab. | Asset | Liab. | Asset | Liab.
Produced non-
ANF1 financial assets 105.8 6.9 52.3 169.2 334.2
Inventories (12) +
ANF12 valuables (13) 17.5 1.1 6.5 25.1
Non-produced non-
ANF2 financial assets 93.7 7.4 38.6 169.3 309.0
Monetary gold and
F+ | spRrs 4.3 43 | 00
Bills and coins 0.6 0.5 10.2 34 5.6 0.0
Refinancing between
financial institutions 7.9 5.0 12.9 0.0
F, Bank reserves 22.2 22.2 0.0
Govt. account at CB 1.1 1.1 0.0
Target 2 1.3 1.3 0.0
Deposits 28.3 97.4 207.0) 75 6.7 6.0 5.8 64.6 63.5 | 47.8 0.0
Public securities 1.2 22.1 17.4 98.1 57.4 0.0
F3 Foreign securities 1.6 63.3 6.5 1.1 0.8 73.3 0.0
Other securities 27.6 42.5 67.6 5.0 1.1 0.8 45.8 0.0
Fa Loans 75.2 | 1225 | 109.7 0.2 8.3 61.3 | 448 | 37.7 0.0
[Domestic] Equity and
inv. fund shares 194.0 | 333.3 84.6 104.1| 0.7 6.1 25.1 61.0 78.1 0.0
Fs [Foreign] Equity and
inv. fund shares 72.9 32.8 0.1 -1.2 6.2 110.8 ) 0.0
issued by RowW
Insurance. pension
Fe funds and s.g.5. 1.8 92.5 0.2 89.4 1.1 0.0
Fin. derivatives and
Fz | employee stock 0.0 1.7 0.0 -0.1 0.0 -1.8 0.0
options
Other accounts
= receivable/payable 12.8 -3.1 0.0 0.5 4.4 -14.7 0.0
F Financial wealth -95.1 7.2 1.9 -78.4 169.4 -4.7 0.0
B90 | Net worth 121.9 21.5 1.9 13.5 514.4 -4.7 | 668.3
A-(L+B90) 0 0 0 0 0 0

Source: Authors’ calculations using data from INSEE and Webstat (Banque de France)
Note: The totals are the result of operations carried out with more than one decimal (not shown here),

therefore totals in the last line and column may differ slightly.

Firms Financial inst excl Banque de France Government Households + Rest of the world Total
BdF NPISH
(uses
Code Item paid received paid received paid received paid received paid received paid received | -res.)
P6 Exports pxX pxX
P7 Imports pimIM pimIM
B11 Trade balance -TB TB
P1 Production PeQ” peQ” PeQ° PeQ" PeQ
P2 Intermediate consumption piclCr piclC? piclCC piclC? piclc?
B1 Value added VAF VAR VAC© vat VA
D11 Wages and salaries wyf wp Wy Wy wiH WF Wk 0
D12 Labor contributions Lcy Lcy LCS Lcy LcH LCy LCER 0
Taxes on payroll and
D29 miscellaneous taxes on TF TE TS T, TH e 0
production
D319 Subsidies on production —Sub —Sub® | —Sub’
D39 Other subsidies on —Subf —Sub? —Subg —Sub! —subf | —sub*
production




D39% Operating subsidies —Subg’ —Subf
B2 Gross operating surplus mnr e [11B] [119] ("] n
D21 Net taxes on production T 15 T
D41 Interest Int} Intf Inty Int? Intg® Intc® Intg Intg Intff IntH Int} Int? 0
Distributed il f . . . .
D42 s 'LO‘:pira';f;'S"e ° Divf  DiwF | Dl  Div® Divf®  Dipf® Divg Divl! Divf Divf 0
wo oo | o
Dag | FPropertyincome attributed st | nsg INSS INSH INSR 0
to insurance policy holders
D45 Rents RENT; RENTS | RENT;' RENT! 0
D5 | Taxes onincome and wealth TF TE T¢E T T TR 0
D61 Social contributions Sck Sck sce scy! SCx SCER 0
D62 Social benefits SBY SBy SBf SBH SBY SBE 0
D7 Transfers Ty Try Tr? Trf i TrR 0
B6 Gross disposable income i V7 v i Y,
P3 Consumption pldct péce pcC
B8 Gross saving SF SE S SH S
D9 Capital transfers Tri, Trg, Trg, Tri, Trg, Trg,. 0
Gross Fixed Capital
P51 Formationp phLIf prl? phIf Pl Py
P52 Changes in inventories P, [ pi, 1 Przhiz
Acquisition less disposals of
Ps3 ‘ valuablesp Ph 1S Pi 15
NP ACunItIOnS less disposals of NP,,F NP,,E NPpG NPp” 0
non-fin non-produced assets
BINF Financing capacity FCNF FCN® 0 FCN¢ FCN* FCNR 0
Adj Adjustment B9F - BINF Adj* Adj® Adj°? Adj¢ AdjH Adjf 0
" Financial inst excl Households +
Firms BdF Banque de France Government NPISH Rest of the world
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
F1 Monetary gold and SDRs pEEATGE pSEATGEEl O
F21 Bills and coins A*HF A*HE A*HCE A*HM A*HR 0
F295 Refinancing between FI A*RF A*RF¢ A'RFR 0
res Bank reserves A*RES A*RES 0
gcb Govt acc at the CB ADS%e | apiPe 0
tgt2 Target2 A*TRGT2 A*TRGT2 0
F2 Deposits ADE A'DF ADP A'DE A'DEE | AD§ A'Df A'DY A*DR A'DR 0
F3e Public securities ijA‘Bf:‘ png‘Bf‘ pﬁj“A‘BjE( p§,A"Bf png'Bf‘; 0
F3d Foreign securities PsRA'By PyrA*By! PaaRA* By PyrA* B, ParA B pRABF| o
F3g Other securities pe, ABL | 5, A"Bf pg,A'BY | pEiA'BSE p§, A" Bf pi, A BY p,A"BE 0
F4 Loans AL A'LE A'LE A'LGP A'LS ALH AR AR 0
Domestic equity and . . « * N * G oA « .
Fse v fjn dihares pE,AEf pEAEF | pB NEP pEAEP | pSENES®  p@PAESE| p,AES i, AEf PE,AER 0
Foreign equity and FR p s oF) BR A+ 2BI CBR g+ 2CBF, GR A+ 2GR HR g+ pHR R A+ER
Fsd investment fund shares pEAA Ey! pEAA Ey Pg, AE, pEAA Ey pEAA E, Pi, A"EL 0
6 Insurance, pension funds and A AL A 4P A4S AAl A AR 0
s.g.s.
Fin. derivatives and employee N . . N . .
F7 ctock antions AXE A'XP AXEE AXS AXY AXR 0
Other accounts
F8 AZE AZE A Z§E AZ§ ANZE A ZR 0
receivable/payable A A A A A A
Net ”‘q"”:s’:;'t:f financial NAFAT NAFA® NAFAC? NAFAS NAFA" NaFa® | o

NPISH = Non-profit institutions serving households
Cells in blue represent the closing items of the corresponding line

Note: The Central Bank’s financing capacity is nil; it is paid in full to the government in form of a tax (see equations 233, 234 and 282)




Firms Financial inst excl Banque de France Government Households + Rest of the world Total
BdF NPISH
(uses
Code Item paid received paid received paid received paid received paid received paid received | -res.)
P6 Exports 31.8 31.8
P7 Imports 32.8 32.8
B11 Trade balance 1.0 -1.0
P1 Production 124.8 10.1 20.9 20.8 176.6
P2 Intermediate consumption 72.5 6.2 4.9 41 -87.7
B1 Value added 52.3 3.9 16.0 16.8 88.9
D11 Wages and salaries 26.1 1.7 8.2 2.3 39.0 0.7 0.1 o]
D12 Labor contributions 7.3 0.7 4.0 0.8 13.1 0.2 0.0 0
Taxes on payroll and
D29 miscellaneous taxes on 3.0 0.5 0.5 4.8 1.0 0.1 0
production
D319 Subsidies on production -0.9 0.0 -1.0
D39 Other subsidies on 16 0.1 0.1 0.4 03 | 24
production
D39%b Operating subsidies -1.9 -1.9
B2 Gross operating surplus 17.4 1.1 [3.4] [13.1] 34.9
D21 Net taxes on production 11.9 0.1 12.0
D41 Interest 2.6 2.1 4.7 6.2 -0.1 0.0 1.5 0.1 0.6 0.6 2.9 3.2 0
D42 Distributed income of 83 6.8 17 22 01 0.0 03 18 31 1.9 0
corporations
D43 Remvestgd e.armngs on direct 01 01 0.0 02 03 02 0
foreign investment
D44 Prqperty |ncome» attributed 01 20 01 19 01 0
to insurance policy holders
D45 Rents 0.2 0.1 0.1 0.1 0
D5 Taxes on income and wealth 2.0 0.6 13.1 10.3 0.2 0
D61 Social contributions 0.6 1.5 16.8 19.2 0.0 0.3 0
D62 Social benefits 0.6 15 19.5 21.4 0.2 0.3 0
D7 Transfers 1.0 4.2 4.2 2.7 2.0 17 0
B6 Gross disposable income 12.1 12.1 0.8 0.8 24.3 24.3 62.9 62.9 100.2
P3 Consumption 23.1 53.7 76.8
B8 Gross saving 12.1 0.8 1.2 9.2 23.4
D9 Capital transfers 0.8 0.1 0.4 0.5 0.1 0.1 0.0
P51 Gross Fixed Capital 1238 12 3.7 5.8 23.4
Formation
P52 Changes in inventories 0.4 0.0 0.1 0.5
P53 Acquisition less disposals of 01 01
valuables
NP Acqunfltlons less disposals of 0.0 00 01 01 00
non-fin non-produced assets
B9N g o
F Net financing capacity -0.3 -0.3 0.0 -3.0 2.8 0.8 0
Adj Adjustment B9F - BINF 0.1 05 -0.4 0.1 0.2 03 0
" Financial inst excl Households +
Firms BdF Banque de France Government NPISH Rest of the world
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
F1 Monetary gold and SDRs 0.0 0.0 0
F21 Bills and coins 0.1 0.0 0.6 0.3 0.2 0
F295 Refinancing between FI -1.9 -0.6 13 0
res Bank reserves 0.7 0.7 0




gcb Govt acc at the CB -2.4 -2.4 0
tgt2 Target2 1.5 1.5 0
F2 Deposits 21 6.1 13.4 0.7 2.2 2.8 0.5 33 7.1 6.2 0
F3e Public securities 0.1 2.5 -0.5 31 0.9 0
F3d Foreign securities 0.0 29 -0.6 -0.1 0.0 23 0
F3g Other securities 1.6 0.7 33 0.0 0.1 -0.2 4.5 0
F4 Loans 2.5 5.0 3.8 0.0 0.0 37 2.6 0.3 0
Fse _ Domestic equity and 0.4 28 06 0.0 0.1 0.0 02 0.4 1.0 0
investment fund shares
F5d _ Foreign equity and 1.0 11 0.0 0.0 03 18 0
investment fund shares
6 Insurance, pension funds and 0.0 18 0.0 17 01 0
s.g.s.
7 Fin. derivatives aer employee 0.0 02 0.0 0.0 0.0 02 0
stock options
F8 Other accounts 27 17 01 03 0.9 18 0
receivable/payable
Net acquisition of financial 0.4 0.3 0.4 3.1 26 11 0
assets

The value of GDP can be obtained from the table above;

e By the demand approach as the sum of public and personal consumption (76.8), gross fixed capital formation by all sectors
(23.7), changes in inventories except those of households (0.5-0.1), acquisition less disposals of valuables (0.1) and exports
(31.8), less imports (32.8).

e By the income approach as the sum of wages and salaries received by households (39.0) the corresponding labor
contributions (13.1), the sum of all sectors’ gross operating surplus (34.9), taxes on income and wealth received by the
government (13.1) and a slight discrepancy (-0.1).

e By the production approach as total value added (88.9), net taxes on production (12.0) less subsidies on production (-1.0).

Firms Fmancl;;l:st excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced Klp—lApl’;‘ Kf_lAp,% KIG—IApI% KlH—lApI’;"] K- 1Apy,
NFA12 Inventories Kf,_1Apk K& 10pg,, Kia-18p |
NFA13 Valuables Kt Apf Kf_1Apf,
NFA2 Non-produced K31 AP, Ki-10pR, K§,10pF, KL, Apg, Ky-10p
F1 Monetary gold and SDRs G5 ApEE G ApEE 0
F2 Deposits revalp, revalf, = revalp, revalff revalf? | revalf, revalf, revalf, revaly, revalf, 0
F3e Public securities B1C, ApyS B Apy¢ By SApge Bf_,Apg, ByS,ApyS 0
F3d Foreign securities By, Apy* By Apy® By RApgr By Apgh By R Apy R B, ApE,| 0
F3g Other securities Bi_,Apg, | Bi-1ApE, BE-Aps, | BSZApE, Bf_,Apg, BiL,ApE, BR 1 ApE, 0
F4 Loans revalf, revalf, | revalf, revalf? revalf, revalf, | revalf, revalf 0
Domestic equity and
F5e investment fund shares E/f—lAPEA ELF—1AP§,_ Ef—lApgA EE—1APE,_ EAcflAPEi ELCE1APELB E/f—lAPgA Ef—lAPEIA Ef—lApgA 0
Foreign equity and g C C G
Fsd investment fund shares AN Eg" Apgt EgZRApg," Eq® ApgR EQ% dpg) E[ApE, 0
Insurance, pension funds
F6 and .. revalf, revalf, revallf, revalf, 0
Fin. derivatives and 7 B cB cB H R
F7 employee stock options revaly, revaly, revalg; revalg} revaly, revalf, 0
Net financial revaluations NFRF NFR?® NFR®B NFRS NFRY NFRR 0
Net worth revaluations NWRF NWR? NWR®E NWRS NWRH NWR® | K_,Apyx
A-(L+NWR) 0 0 0 0 0 0




Firms Fmancl;;l:st excl Banque de France Government Households + NPISH Rest of the world
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced 1.5 0.1 1.2 1.8 4.7
NFA12 Inventories 0.2 0.0 0.0 0.0 0.1
NFA13 Valuables -0.1 -0.1
NFA2 Non-produced 3.8 0.3 2.2 7.6 13.8
F1 Monetary gold and SDRs 0.8 0.8 0
F2 Deposits 0.0 0.4 0.5 -0.1 0.1 0.0 0.0 0.0 0.0 -0.2 0
F3e Public securities 0.0 0.1 0.5 2.6 2.0 0
F3d Foreign securities 0.0 2.2 0.3 0.0 0.0 2.6 0
F3g Other securities 13 0.3 1.2 0.2 0.0 0.0 2.0 0
F4 Loans 0.1 0.1 -0.1 0.0 0.0 0.0 0.3 0.2 0
Dy ti it) d
F5e _pomestic equity an 305 47.7 6.8 9.6 0.0 0.9 22 7.6 11.0 0
investment fund shares
F5d _ Foreign equity and 10.9 42 0.0 0.1 0.6 15.7 0
investment fund shares
6 Insurance, pension funds 0.0 50 0.0 5.0 0.0 0
and s.g.s.
F7 Fin. derivatives and 0.0 1.0 0.0 0.0 0.0 1.0 0
employee stock options
Net financial revaluations -7.6 -3.4 0.7 -0.3 13.2 -2.8 0
Net worth revaluations -2.0 -3.0 0.7 3.1 22,5 -2.8 18.5
A-(L+NWR) 0 0 [ 0 0 0
Firms Fmanc:;;::st excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced 0CVE, oCVE, ocvg ocvE, 0CVyy
NFA12 Inventories + valuables oCVE, ocvE, ocvé, ocviE, 0CVy1,
NFA2 Non-produced 0CV, ocVE, ocve, ocvl, 0CVy,
F295 Refinancing between FI 0CVip oCVEE OCVE. 0
res Bank reserves 0CVigs 0CVpgs 0
gcb Govt acc at the CB OCVDCABC OCVDEABG 0
F2 Deposits ocvE, ocvE, ocvE, ocvEs 0oCVEE oCvE, ocvg, ocv, oCcvy, OCVR, 0
. ias F B, CB, R
F3e Public securities ocv,f ocV,f ocV,, ¢ 0oCVy, ocv,,’ 0
F3d Foreign securities ocCV/R ocV/R ocyEir 0CVER ocvir oCVE 0
BA BA BA BA BA BL
F3g Other securities ocvE, ocvE, ocvE ocvEr ocvé, ocvi, OCVE, 0
F4 Loans oCVE, 0CVE, 0CVE, ocVSE ocvs ocvH OCVE OCVE 0
Domestic equity and FrR FRR Brr Brr CBrr CBrr GrR HFR RFR
F5e investment fund shares ocv,, ocv,,! ocv,, 0ocCVg, ocvV,, oCV,, ocv,, ocv,, ocv,, 0
Foreign equity and Fr Br CBR GR HR R
Fsd investment fund shares 0CVz OCVzs 0CVg4 0CVe4 OCVe4 0CVe 0
6 Insurance, pension funds ocvr, ocvE ocvs, ocv oCVE, 0
and s.g.s.
Fin. derivatives and " 7 B ¢ " 2
F7 employee stock options 0CVy, 0CVy, OCVyy OCVyy 0CVyy oCVy, 0
Net fii ial other chi
et financial other changes FoCvF Focv? FOCV°E FoCve Focv? FOCV® 0
in volume
Net other ch i
et other canges in ocvF ocve ocver ocve ocvH ocvr ocv

volume




Firms FI'IGIICI;LZIS! excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced 0.0 0.0 0.0 0.0 0.0
NFA12 Inventories + valuables 0.0 0.0 0.0 0.0 0.0
NFA2 Non-produced 2.3 0.4 0.5 2.5 5.8
F295 Refinancing between FI 0.0 0.0 0.0 0
res Bank reserves 0.0 0.0 0
gcb Govt acc at the CB 22 2.2 0
F2 Deposits 0.0 0.0 0.0 0.0 -2.2 -2.2 0.0 0.0 0.0 0.0 0
F3e Public securities 0.0 0.0 0.0 0.0 0.0 0
F3d Foreign securities 0.0 -0.9 0.0 0.0 0.0 -0.9 0
F3g Other securities 0.0 -0.7 -0.6 0.0 0.0 0.0 0.0 0
F4 Loans -0.2 -0.4 -1.0 0.0 0.0 -0.1 0.3 -0.3 0
F5e _ Domestic equity and 0.4 03 0.2 -0.0 0.0 0.0 02 0.2 0.1 0
investment fund shares
F5d __ Foreign equity and 02 0.0 0.0 -0.0 0.0 01 0
investment fund shares
% Insurance, pension funds 01 02 0.0 01 0.0 0
and s.g.s.
F7 Fin. derivatives and 0.0 0.0 0.0 0.0 0.0 0.0 0
employee stock options
Net fman.clal other changes 05 18 0.0 0.2 0.0 1.0 0
in volume
Net other changes in 2.8 -1.3 0.0 07 25 10 5.8
volume

Note: some rows that exhibit 0 in 2019 are not shown in the tables.

Equation 1 GDP in volume

Gross Fixed Capital Formation Trade balance

—_ H G F B G H F G H H Y _IM
Y= CH+CC + IF+IPB+I5+1F  +IL+I15+15+15+ X—IM
Consumption A inventories + net val.

Equation 2 Value added, value
VA = pyY — Tp — T + Sub + Sub®

[Reminder: Sub and Sub® appear with a negative sign in Table 4, therefore in the code they appear with a negative sign, and in the previous formula
with a positive one.]

Equation 3 Consumer price index

H_ pyY —péct - plFllf - pﬁ’f - plallf - pzllli - p,FlzIfz - Plalzlfz - pﬂ31;’3 —pxX +piuIM
pe Y—CC—IF—1F =I5 —IF — 1[5, — 15— I, — X + IM

[Reminder: Sub and Sub® appear with a negative sign in Table 4, therefore in the code they appear with a negative sign, and in the previous formula
with a positive one.]

Equation 4 Value added, firms VAS = af,(Wf + LCS)
VAF =VA—VAB —VAC —vAH Equation 8 Value added, volume
Equation 5 Value added, households (VA)
va=|—
Dy

VAH = all,(VA —VAB —VA%)
Equation 9 Value added, market sector (value)
Equation 6 Value added, banks
VAM = VAF + VA8 +vAH
VAE = a8 pY
Equation 10 Value added market sector, volume
Equation 7 Value added, public sector




vaM
va’ = (—)
by

Non-financial corporations

Equation 11 Wages paid
F _  FNF

W, =w, N
Equation 12 Labor contributions paid

LCy = BicWy,
Equation 13 Labor taxes

Tf = Wy
Equation 14 Subsidies received

Subf  exogenous
Equation 15 Profits
n* =VAF —wf — LC) — Tf — Subf

Equation 16 Interests received

Fr

F
BA_IBAL + L)

Intf = 7f (D, + ¢ By, +p
Equation 17 Interests paid
Inty; = 7’[(1’2,_—135—1 +Li_,)
Equation 18 Dividends paid
DinF = Vgivpn F
Equation 19 Dividends received
Divf = }/(Ii:iurpEA_lEﬁ—l
Equation 20 Redistributed earnings on FDI received
RFDIF = RFDsz + RFDI,’,’ + RFDI,’f — RFDI? — RFDIR
Equation 21 Redistributed earnings on FDI paid
RFD];I; = TI-EDIPZL—IEE—I

Equation 22 Property income attributed to insurance policy holders
received

INSF = rAFAAj_1
Equation 23 Rents paid
RENT) = rent} VA"
Equation 24 Corporate taxes

TF = 05 (1%, + Intf_, — Int,_, + Div]_, — Div;_, + RFDI]_,
—RFDIJ_y + INS]_; — RENT}_,)

Equation 25 Social benefits paid
SBY = viz,pyY
Equation 26 Social contributions received

SCF = 6k (SCH + SCR)

Equation 27 Miscellaneous transfers paid
Trpp = H;rppyy
Equation 28 Disposable (corporate) income

Yf = [ + Intf — Intf + Divf — Divf + RFDIF — RFDIE + INSE
— RENTF —TF + SCF — SBE — Trf

Equation 29 Savings (self-financing)
sF=yf

Equation 30 Net acquisition of non-financial non-produced assets

NPF = Gf,PppyY
Equation 31 Capital transfers

Trf, = Of ., by
Equation 32 Financing capacity/need

FCNF =S¥ —p[ If — pi 11, — NP¥ + Trf.
Equation 33 Gross investment
If = NKf + 8%, K,

Equation 34 Net produced non-financial assets, flow (accumulation
rate) - model runs with option 1

Option 1, without output gap

=0.02+0.1 —-01(rf —my)
<K1F—1 plil_lle—Z + p,’?z_ll(f_z v Y

LF
—0.02(rf, = my) — 003 ——=2t——
(&, ~mv) <p§LE[ + WLTHF>

Option 2, with output gap

AKF
K{

LF
=0.03—0. F_ —002(—
) 0.03 — 0.06(r{ — m,) — 0.0 (ngELF+WLTHF>
+ 0.3GAP

Equation 35 Gross investment, price
Aln(pl) = 0.96A1n(py)
Equation 36 Produced non-financial assets, price
P, = Opi, DI
Equation 37 Non-financial assets, stock
P KE = (1- 65 )pk _ Ki_y +phI§ + KIApk, + OCVE,
Equation 38 Inventories, price
Aln(pf ) = 0.3AIn(pf,_,) + 0.6AIn(py_,)

Equation 39 Inventories, stock

Aln(Kf,) = —0.01 + 0.8AIn(Kf,_;) + 1.2AIn(va®)
—0.6AIn(vaf,)

Equation 40 Value added by firms, volume

VAF
vaf = (—)
14%
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Equation 41 Inventories, flow Equation 56 Domestic equities held, flow
P11z = APk, Ki2) — Ki>-18pk,, — OCVE, . o (OCVIT®
ANE,"® = AE,"™® — F
FR
Equation 42 Non-produced non-financial assets, price Ea
1“(1712) — 0.861n(p,’§2_1) +08 ln(p?z) _ 0.7ln(p,¥2_1) Equation 57 Foreign equities held, stock
Equation 43 Non-produced non-financial assets, stock (mainly PFREFR = PEA PFFREFFR
constructible land)
Equation 58 Foreign equities held, flow
Pic K5 = P, Ki1 + Pl 1% + K Api;, + OCV, .
»pFR _ FRr OCV;'AR
Equation 44 Non-produced non-financial assets, flow AE," = AE," — pFR
Ea

F .
I;  exogenous (close to nil) Equation 59 Foreign equities held, price

Equation 45 Public securities held, stock
Aln(pgF) = —0.6AIn(pg? ) + 1.1AIn(p;)

Fg F
p = Yp VA
B” f Equation 60 Profitability of equities held

Equation 46 Public securities held, stock F F .
- (EA_1ApEA + Divf >
e, =\ —F o

ocv)e P, Eaa
A*BjG:ABjG—< F‘;A> -
Ba Equation 61 Deposits, stock
Equation 47 Public securities held, price Df Df_
A (—) =0.009 + 0. 4A( ) — 0.14(i10yrs — 7y)
6 — .1,F6 .G pyY y-11-1
pBA = ¥ppaPs,

Equation 62 Deposits, flow
Equation 48 Foreign securities held, stock

A*Df = ADf —revalf, — OCVj,
pBA = Yp, VAT
Equation 63 Credit assets, flow

ALE A*LE_ A*LE ALE_
2)=05(—=22)+05 L)_03 L1
VAF VAF_, VAF VAF_,

Equation 64 Credit assets, stock

Equation 49 Foreign securities held, flow

OCV/SR
A*B:R:AB:R_< BA)

FRr
Ba

Equation 50 Foreign securities held, price
Ly = Lj_y + A*Lf + revalf, + OCV],

pBA waApBL Equation 65 Bills and coins, stock

Equation 51 Equities held, flow (accumulation rate)

F=yipyY
A*E}f) ( mnr ) ) . .
=0.35 Equation 66 Bills and coins, flow
(E/f—1 P;1Kf—1 + P1€12K1172—1 + pII‘(‘zKZF—l
+0.02(rf,_ —my_y) AHT = AHT — OCVf
PLLLi
+0.01 m Equation 67 Insurance, pension funds and standardized guarantee
EL"L

schemes, flow

Equation 52 Equities held, price (i.e. CAC 40) A*Aﬁ — ngVAF

pFFREFFR pFREFR
— pFFR(ZEa "4 Fr[ZTEa"A Equation 68 Insurance, pension funds and standardized guarantee
pEA Pe, EF Pe, F pF
pEA A Pg,Ea schemes, stock
Equation 53 Equities held, stock AL = A, + AAf + 0CVf,
EF = EF .+ AEF + <0(;:V> Equation 69 Total indebtedness, stock
PE, F
A Ppy, BL
Equation 54 Domestic equities held, stock pk Ki + g, K5, + pk,KE
F F
Pei,_BLi 1 )
Frr Frr _ =0.3A
Pe, Ex l‘b”EApEA 4 (pﬁl,leA + p;u,lKIl:Z—l + p§2,1K2—1
¥
Equation 55 Domestic equities held, price + 1.8A -1 ) —0.07vc_,
ﬁl,le—z + p;u,lK{z—z + pﬁz,lKg—z

FFR FFR FR

Pg, = Mpg,PE



ve = ( PeL, BL >
P K1 + Pk, K1, + Pl K}

HF
_7'7(FKF+FKF +FKF>
Pk, 811 TPk, 812-1 T Pk, 821
+ 3-2(i10yeurs - 7TY)

Equation 70 Total indebtedness, flow

. ocvyE,
ABL’Z:ABL{—( —=

BLL

Equation 71 Bonds issued, stock

F BF F BF
(7€BLB;F> =09 (7:"“-;31} ) +0.002In(pf,)
Dp, BLy P, BLi1

Equation 72 Total indebtedness, price

Aln(pf,, ) = 0.4AIn(pf,, | )+ 0.13AIn(pf, ) — 0.09AIn(pf, -, )
—0.05vc_,

ve =In(pf,, ) —0.02—0.2In(pf,)
Equation 73 Bonds issued, price

In(pf, ) = 0.8In(p§,_, )+ 0.9In(ps, ) —0.7In(ps,_, )

Equation 74 Bonds issued, flow

OCVE
A*BF = ABF —< FBL>

BL
Equation 75 Loans issued, flow
ALY = ppy, A"BL] — p§, A"Bf
Equation 76 Loans issued, stock
LY = Lf_y + AL} + revalf, + OCV{,
Equation 77 Other accounts payable/receivable, stock (net assets)
F=6fpyy
Equation 78 Other accounts payable/receivable, flow (net assets)
A ZF = AZF —ocvf

Equation 79 Equities issued, flow; closes account of non-financial
corporations

PEAEL = pf 1§ + pf, 15, + A"HF + A'Df + pyt A'B}¢
+ PR ABRR + AL + pf, AEG + AL
+ A XF + A ZF —ph A'Bf — AL — ST
+ NPF —Trg — Adj*
Equation 80 Equities issued, price

PEL BSELPER

Equation 81 Equities issued, stock

ocvE
Ef = Ef, + NEf + ( F“)

EL
Equation 82 Profitability of equities issued

. (Ef_lAp,’,;’L + Div,f)

Tg, =
L F F
P, Ei-1

Equation 83 Price of domestic equity (the simulations shown are with
v1)

Aln(pER) = 0.9AIn(p;) — 0.4AIn(p;_,) — 0.5vc_;, vl

pFR EFR
uc=m@y)+96—asm@3—231<f x1w>
EAEA
piREﬁk — pZ;REiFR + ngREBFR + pZAB”EﬁB” + pg:'REgFR
+ pHFREHFR

peE4 = pi,E} + pE E} + pEEES® + pE ES + PE ER

FR
PE
<pFFREFFR + pBFREBFR + pCBFRECBFR + pGrREGm + pHrREHm> ,
V.

EF +EB+ EfE —E;R

Equation 84 Domestic equities held by the rest of the world (at

constant prices)
g — (PEER
4\ iR

Equation 85 Profitability of domestic equities

R _ Divy + Div] + Ef_Apg, + EE 1 Apg,
Tg F EF  +pE EB
Pe,_EL-1 T PE,_EL-1

Equation 86 Financial wealth

FWF = HF + D +py¢ By® + pit BY* + L + pf Ef + Af + X*
+ ZF - p5, Bl — L — pE Ef

Equation 87 Net wealth

WLTH® = pi K{ + pk,,K{, + pk, K5 + FWF

Households and NPISH

Equation 88 Wages paid by households
WpH —wM_ WPF _ WPB
Equation 89 Total wages received
WH=w+ WpR - WR
Equation 90 Labor contributions paid by individual entrepreneurs
= MICWpH
Equation 91 Labor contributions received

LCcH =ZLC,§ —LCR for i=F,B,G,H,R

Equation 92 Labor taxes paid
T = By’
Equation 93 Subsidies received
Subf = ﬁs’ibs,pvy

[Operating surplus of individual entrepreneurs > 17 = VA" —
W — L = T + Subf!]



Equation 94 Interests received
It = rf(Di; + pBA Ba* + Ph,-1Bi-1)
Equation 95 Interests paid
Int) =rfL}_,
Equation 96 Dividends received
Divf' = ycslivrpgA—lEg—l

Equation 97 Property income attributed to insurance policy holders
received

INSH = rfl Al
Equation 98 Rents paid
RENT;’ = RENTf + RENTH — RENTpF
Equation 99 Rents received
RENTH = rent!'p, 1K¥_,
Equation 100 Income tax paid

TH = gH (AR, + W, —WH +LCH, - LCH , —TH | + Intl,
—Intf_; + Divi', + INSIL, + RENT/.,
- RENT” »)

Equation 101 Social contributions paid by workers
LCW! = Q4w
Equation 102 Social contributions paid

SC = LG + LCw!

Equation 103 Social benefits received

SBH = —SBR +ZSB,§ fori =F,B,G,H,R
i

Equation 104 Social benefits paid
SB;,’ = Bsﬁ;ppyy
Equation 105 Miscellaneous transfers received (net)
Tl = TrpF + TrpB + TrpG —Trf —TrR
Equation 106 Disposable income

= VA" — WY — LY — T} + Sub¥ + Int! — Int!! + Div}!
+INSY + RENT!Y — RENT} + W} + LCY
—~TH —SCH + SB +Tr}

Equation 107 Personal consumption (volume)

YH WLTH!
Aln(C") = 0.6 Aln +0.09AIn | ——— | — 0.14vc_,;
Pc Pc

Y WLTH
ve =1In(C¥) - 0.5-0.861In|{ — | — 0.04In | ——F—
Pc Pc

Equation 108 Savings

51 = v} - plct
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Equation 109 Net acquisition of non-financial non-produced assets
NPH = eﬁpppyy
Equation 110 Capital transfers paid
Ky = QTHerYY
Equation 111 Financing capacity/need
FCN® = s" —pf I — NP —Trg,

H yH H JH
— P, 112 — Prysl1s

Equation 112 Investment

YH
Aln(If) = 0.4AIn(I.,) + 0.4 Aln (p”ﬁ,) — 0.6A(ix0years — 1)
1

—0.4vc_;

H
ve =In(I*) — 1.1 - 0.51n (%) +0.9(i10years — )

-0.2
<p11gz_1>

Equation 113 Investment, price

Aln(p!) = 0.98A1n(py)

Equation 114 Produced non-financial assets, price

Aln(pl) = 0.003 + 0.8AIn(pl, ) + 0.76AIn(py)
—0.72AIn(py_4)

Equation 115 Produced non-financial assets, stock (including housing
investment)

P K = (1- 68 )k _ Ky +pl I + KiL Apl, + OCVE

Equation 116 Non-produced non-financial assets, price

Aln(pf,) = 0.61AIn(pf _,) + 0.9AIn(If) — 0.15vc_,

LH
ve =In(pf) +9.5—2.1In(/{-,) — 1.5In <Y >
d

Equation 117 Non-produced non-financial assets, stock (mainly
constructible land)

pKzKH = pKzKZ 1t pKZI + KL 1APK2 + OCVKZ
Equation 118 Bills and coins, stock
HY = yliyl
Equation 119 Bills and coins, flow
AHY = AHY — oCcVH

Equation 120 Deposits, stock (mainly savings accounts)

D} }3 1 .
A=) =0.5A — 0.4A(iy0yrs—1 — TH_1) — 0.2vc_,
Yd d—1

Dy )
ve = (F) —0.9 + 1.04(iy0yrs—1 — TH_4)
d

Equation 121 Deposits, flow

A*Dj = ADf —revalf, — OCV},

Equation 122 Foreign securities held by households, stock



HgpHr _  HryH
Pp, B =g, Yy

Equation 123 Foreign securities held by households, price
H H
Py = WpauPh,
Equation 124 Foreign securities held by households, flow

OCVB‘;R>
Hg
Ba

A'B,R = AB,F — (

Equation 125 Other securities held by households, stock
pi,Bi = i, Yi
Equation 126 Other securities held by households, price
PEs = YopaPh,

Equation 127 Other securities held by households, flow

ocv,
ABY = ABJ - ( BA)

H
[Z

Equation 128 Equities held, stock

pi,E}
A( ;H ) = 1.8A(rf, — ) — 0.24vc_,
da

(p’s’AEL’
e =

Equation 129 Equities held, price

Hpg oH Hp oH
Y Hen pE:REAFR He pE/l:EAR
Pes =Pe, \ —mga |1 Pe, H pH

Pi,E4 Pe,E4

Equation 130 Equities held, flow

ocvy
AE}f = AE}! —< H“)

Ea

Equation 131 Profitability of equities held by households

u o <E£’_1Ap§'A + Divf’)
B (AR T
4 PEIA_IE,’;A

Equation 132 Domestic equities held by households, stock
H H
pE:REAFR = 1/’?17?,.55'
Equation 133 Domestic equities held by households, price

Hpr _ HFR, FR

Pe, = NpgaPE

Equation 134 Domestic equities held by households, flow

HFR
A*E:FR — AE:FR _ <OCVEA )

Hpr
Ea

Equation 135 Foreign equities held by households, stock

HppHR _ H pH _  Hrr pHFr
Pe Ea” =PeEd —pg, Ey

Equation 136 Foreign equities held by households, price

HR
pEA exogenous

o ) —09—22(rf — ) + 3.1(i10pears — T8
d
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Equation 137 Foreign equities held by households, stock

OCV/®
A*E/I“IR — AE/I"IR _( Ea )

Equation 138 Insurance, pension funds and standardized guarantee
schemes, stock

Al Al
A (Y_’:,> =0.27A (Yj‘, 1) + 0.02A(DepRatio )
d d-1
+ 0.3(is0years — ) + 0.1(rf, — mh)
—0.15vc_;

AH
ve = (Y_:> + 2.7 — 0.13(DepRatioyy)
d

DepRatio,;; = dependency ratio, old

Equation 139 Insurance, pension funds and standardized guarantee
schemes, flow

AAf = MY — revall, — 0CV]
Equation 140 Loans, flow; closes account of households
ALY = pf I+ pil 1%, + AHY + A'DY + piRABL® + pli A'BY
+pi AEY + A AY + A" 2" — SH + NPH
+Trf, — Adj?
Equation 141 Change in inventories

pf'lzl'l"2 exogenous

[Note: this is the sum of Changes in Inventories and Acquisition less
disposals of valuables p52+p53, see Table 3]

Equation 142 Loans, stock
L =L, + ALY + revalfl +0CV/!
Equation 143 Other accounts payable/receivable, stock (net assets)
" = yipyY
Equation 144 Other accounts payable/receivable, flow (net assets)
A ZH = AzH —ocvf

Equation 145 Financial wealth

FW'" = H" + DI + pi*Bi* + pli BY + p EH + Al — LIl + 2"

Equation 146 Net wealth

WLTH" = p§ K{ + p K> + pi K5 + DR, KY + FwH

Financial institutions

Equation 147 Wages paid by banks
B _ Bpn/ B
W, =wy N
Equation 148 Labor contributions paid
LG} = BEcW)

Equation 149 Labor taxes paid



T = PRy
Equation 150 Subsidies received
Subf = BsBuberY
Equation 151 Profits
e =VAB — WpB - LCI‘,3 —TE + Sub®
Equation 152 Interests paid
It =vf(DE., + ph,_1BF_1) +1cpRF_,

Equation 153 Interests received

Int? = Inty + Intg + Int;® + Int§ + Intf] + Intf — Intf® — Intf
— Intf — Intf — IntR

Equation 154 Dividends paid
Divy = ygp, I1°

Equation 155 Dividends received

Divf? = VgiurpgA—1E§—1
Equation 156 Redistributed earnings on FDI received

RFDI? = rEDlApEA—1E§—1
Equation 157 Redistributed earnings on FDI paid

RFDI;E = Tngng—lEf—l

Equation 158 Property income attributed to insurance policy holders
paid

INSE = Z INS! fori=F,G,H,R
i

Equation 159 Corporate taxes

T® = 0F(115, + Int?_, — Inty_y + Div}_, — Divg_, + RFDIE
—RFDIZ_; —INS}_1)

Equation 160 Social contributions received
SCE = 05:(SCf1 + SC5)
Equation 161 Social benefits paid
SBf = efgppyy
Equation 162 Miscellaneous transfers received
Tr? = 0%, py¥
Equation 163 Miscellaneous transfers paid
TTpB = BfrppyY
Equation 164 Disposable (corporate) income

Y7 =" + Int? — Int] + Div} — Divy + RFDI? — RFDI} — INS}
— T8 +SCP —SBY + Trf —Tr}

Equation 165 Savings

sE=v7
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Equation 166 Net acquisition of non-financial non-produced assets
NP? = 05,pyY
Equation 167 Capital transfers received
T’”I?r = H%pry
Equation 168 Financing capacity/need
FCN® = S5 — pP I§ = NP® + Trg

Equation 169 Investment (accumulation rate)

7 =0.02+09 %
KE,) T TA\KE,

Equation 170 Investment, price

Aln(pf) = —0.01 + 1.1AIn(py)

Equation 171 Produced non-financial assets, price

Aln(pg,) = 0.4AIn(pg, ;) + 0.7AIn(py)
Equation 172 Produced non-financial assets, stock

PR K5 = (168 )pk, K51 +pEI5 + KB ApE, + OCVE
Equation 173 Non-produced non-financial assets, price
Pk, = Yoo,
Equation 174 Non-produced non-financial assets, stock
P, K3 = pit, K31 + Pic I3 + K7L Apg, + OCVE,

Equation 175 Non-produced non-financial assets, flow

12 exogenous (close to nil)

Financial institutions, other than the central bank

Equation 176 Bills and coins, stock
HE =yipyY
Equation 177 Bills and coins, flow
A*HB = AHE — OCVE
Equation 178 Loans, flow; closes the row of the instrument
A'LE = ALY + AL + ALY + pf ALY — ALY — pf A°LE — A°LGP
Equation 179 Loans, stock
L5 =15, + AL} +revalf, + OCV2,

Equation 180 Loans, revaluation effects (closes reval for this
instrument)

B _— F G H R F
reval], = reval], + reval}, + reval}, + reval;, —revalj,
R cB
—reval;, — revalf
A A



Equation 181 Loans, other changes in volume (closes OCV for this
instrument)

OCVE, = OCV. + 0CVE + OCVY + OCVE —

- ocver

OCVf, — OCVR

Equation 182 Financial derivatives and employee stock options, flow;
closes the row of the instrument

AXE = A XE + A XSE + A XS + A XE — ATXR
Equation 183 Financial derivatives and employee stock options, stock
XP =XP 1 + N XP +reval}, + OCVE

Equation 184 Financial derivatives and employee stock options,
revaluation effects (closes reval for this instrument)
revalXL = revalXA + reval$® Tt revalXA + revalXA - revalXL

Equation 185 Financial derivatives and employee stock options, other
changes in volume (closes OCV for this instrument)

0CV{, = OCVy, + OCVEE + 0CV¢, + OCV{, — OCVE
Equation 186 Deposit holdings, stock
Di =yipyY
Equation 187 Deposit liabilities, flow
A*DF = ADZ —revalf, — OCV,

Equation 188 Banks absorb all public debt securities available (model
runs with v1)

PoA By = pf,A'Bf —

«pB B a+pB
pBaA B¢ . ps._A'B,S,
pyY Py-1Y_1
L ANEER_l)

+23(ogrs = 1+ =
-2

pB GA*BCBG _ pBGA*BFG _ pBGA*BRG vl

Equation 189 Public debt securities held, stock

ocye
BY¢ =B/, +A'BY + ( oL )

Equation 190 Public debt securities, price

pBA l/}BA pBL

Equation 191 Foreign debt securities held, flow (accumulation rate)

A*BER A*BER
( BB;‘ ) = 0.65( BB’;*) — 3.1 ey — i)

A-1 A-2

Equation 192 Foreign debt securities held, stock

OCV/R
BJ® = BJ® + A'BJR + ( n )
PB A
Equation 193 Foreign debt securities held, price

ir

Br _ BgL 1 BBA 1 P
Apph = P Apg, — PR Ap for i=F,CB,G,H
Ba-1 i

Ba-1

Equation 194 Demand for other securities

15

ANEER,I)

p8, A B (AY) <* _
( -7 =0.6 T +0.6rf —0.6(i%, NEER,

Equation 195 Other debt securities held, flow

ocvg
BB=B£,1+AB£+< 5 A)

Ba
Equation 196 Other securities held, price
Aln(pf,) = 0.2AIn(pg,_,) + 0.7AIn(p§,)

Equation 197 Equities held, flow (financial accumulation rate)

NEf NEf,
5— | =003+04 +0.05(rf,_ —my_q)
EA—l EA—Z

Equation 198 Equities held (domestic + foreign), stock

ocve
Ef =Ef,+A E£+< 5 A)

Ea

Equation 199 Equities held, price

B B B B

BFr pEjR AFR Br pE::EAR

pEA = PE, 5 |t Pg, B B
pEAEA Pe,E4

Equation 200 Profitability of equities held

5 Ef Apg, + Divf?
Ty = B LB
pEA_lEA—l

Equation 201 Domestic equities held by banks, stock
B B
pEFRE FR _ pEA pERE R

Equation 202 Domestic equities held by banks, flow

BFrr
A*EABFR — AEABFR _ <OCVEA )

BFr
Ea

Equation 203 Domestic equities held by banks, price

Brr _ BFR.,FR

Pe, = Mpg,PE

Equation 204 Foreign equities held by banks, stock
PEEAT) 0.3 + 0.6 (R Ear) g (ANEER)
pEAEg pEA lEg—l " \NEER_;
Equation 205 Foreign equities held by banks, stock

ocvrr
A*Efk =AE§R_< Ea )

Equation 206 Foreign equities held by banks, price

A ln(pg’:) = 0.5A1In(p;)

Equation 207 Bank reserves, flow; closes the account of financial
institutions excluding the central bank (this version runs with option
1)

Option 1 (QE, 2007-)



A*RES = A"RF + A°Df + p§, A"Bf + pg A'E}
+A*AB-(ADE + pBGA*B”G +ppiA By
+p3,A"BS + A*L5 + p} AER + A X7
+ 028 + pP 1§ — SP — Trg + NP? + Adj*)

Option 2 (no QE, 1992-2006)
A*RES A*DP
(5229 - 322
RES_, D,
Equation 208 Bank reserves, stock
RES = RES_; + A"RES + OCVE;¢

Equation 209 Bank deposits, flow; closes the row of the instrument

A'Df = A*Df + A'DS® + A'DF + A'DF + A*Df + pj ,A°D}
— pR,ADF — A*DfB — A*Df

Equation 210 Deposit liabilities, stock
Df = DE, + A'Df + revalg + 0CVj5,

Equation 211 Deposit liabilities, revaluation effects (closes reval for
this instrument)

revalp, = revalf, + reval, + reval? + revalf, + revalf,

+ revalDA - revalDL - revalC‘Lg —revalf,

Equation 212 Deposit liabilities, other changes in volume (closes OCV
for this instrument)

OCVE = OCV{, + OCVE, + OCVSP + OCVE, + OCVE, + OCVE,

- OCVDL - OCV by — OCVDL
Equation 213 Debt securities issued, closes the instrument

p3,ABY = p§,A"BE + piiA BG® + p§ A" BS + py,A'BY
+p§,A'Bf — p§, A'B]

Equation 214 Debt securities issued, price

a8, =~ <BE_1) BL+Z(BL31)APB’* ori= BEBGHE

Equation 215 (Other) debt securities issued, stock

ocvg
Bf =B, +A'BP + ( B“)

BL

Equation 216 Other securities held, other changes in volume (closes

OCV for this instrument)

OCVE = OCVE, + OCVEP + OCVE, + OCVE, + OCVE, — OCVE,

Equation 217 Insurance, pension funds and standardized guarantee
schemes, flow; closes the row of the instrument
A*AB = AT AR + ATAS + A AH + A AR

Equation 218 Insurance, pension funds and standardized guarantee
schemes, stock

A} = Af_, + A A} +revalf +0CV]
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Equation 219 Insurance, pension funds and standardized guarantee
schemes, other changes in volume (closes OCV for this instrument)

OCVgE = Z ocvj, for i=F,G,H,R
i
Equation 220 Equities issued (closes the block equities) - model
runs with option 1

ngA*EB — pEFRA*EFFR + pBFRA*EBFR + pCBFRA* CBER
+ pGFRA*EGFR + pHFRA* Hrr + p A*ER
pELA*EF pEe A*ECB vl

A'E, B _AEE A KE
(PE,_ L> — 025 (pE,__l L 1> i 0.2< F1 1) w2
pyY Py-1Y_4 Ki,

Equation 221 Equities issued, stock

ocve
Ef =EP, +MEf + ( B“)

EL

Equation 222 Equities issued, other changes in volume (closes OCV for
the instrument)

F, B, CB G H
OCVE = OCVT™ + OCV™™ + OCVSPT + OCVI™ + 0CV,'rF

+ OCVERA - OCVEFL - OCVECLB
Equation 223 Equities issued, price
pEL - QPELPE

Equation 224 Profitability of equities issued

B B B
TEL _ <EL—1ipEL ';pr )
pEL_lEL—l

Equation 225 Other accounts receivable/payable, stock
AR lp pyY
Equation 226 Other accounts receivable/payable, flow
A*ZB = AZB —ocvp
Equation 227 Financial wealth

FW?® = HP + RES + D} + pp¢B4° + pp*By* + pj, B + L&
+p? E5 + X§ + Z% — RF — Df — p§ B}
- P, EL — A7

Equation 228 Net wealth

WLTH® = p§ K§ + p% KT, + pR, K3 + FW®

Banque de France

Equation 229 Interests paid
Int$? = regRES_; + 1 (D56 + DEB,
Equation 230 Interests received
Intf® = regRF_; + 1<TGT2_, + r, D58

+ TB(pCBGBCBG + pCBRBCBR + p B CB
+ iLTer B



Equation 231 Dividends paid

Divg® =y G, P, REL T
Equation 232 Dividends received
Div/® = Vgiurpﬁf-lEﬁfl
Equation 233 Profits
18 = Intf® — IntS? + Divf? — Divg®?
Equation 234 Taxes paid to the government
TCB = [ICB

Equation 235 Central bank deposits held by the government

DfBG — D:cs
Equation 236 Central bank deposits assets, stock

D" = y5ipyY
Equation 237 Central bank deposits liabilities, stock

DE? =y pyY
Equation 238 Central bank deposits (assets and liabilities), flow

A*DfB = AD{® —revalff — OCVSE  for i=A,L
Equation 239 Central bank deposits assets, other changes in volume
OCVDCE = arorres OCVrorrEs
Equation 240 Bills and coins, flow;, closes the row of the instrument
A'H = AHF + A"HE + A*HY + A*HR

Equation 241 Bills and coins, stock

H=H_, +AH+0CV,

Equation 242 Bills and coins, other changes in volume (closes OCV for

this instrument)

ocvy = Z ocvy for i=F,B,H,R
i

Equation 243 Public bonds bought by the central bank (QE), flow
CBG p+ pCB
Py, A" BL = v, pyY
Equation 244 Public bonds bought by the central bank (QE), stock

CB,
ocv, P
pCBG

By

B;P¢ = B"S + A'B;¢ + (

Equation 245 Price of public bonds bought by the central bank

CBg _ ., CBg, G
P, = Yppa PB,

Equation 246 Foreign bonds bought by the central bank, stock

CBrpCBr _ . CBR
Pp, By “=vp, " pvY

Equation 247 Foreign bonds bought by the central bank, flow
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CBR
D,

CBR
A*BACBR _ ABACBR _ <OCVBA )

Equation 248 Price of foreign bonds bought by the central bank

CBr _ . CBR_R
Pp, Vopa PBL

Equation 249 Other bonds bought by the central bank (QE), flow
PE;ABL” = vE,pyY
Equation 250 Other bonds bought by the central bank (QE), stock

ocvgf)

CB

B§? = BgE, + A'BP + (
Pg,

Equation 251 Other bonds held by the central bank, price
PB; = YppaPh,

Equation 252 Purchase of bank credit, flow

NLE =y{PpyY
Equation 253 Purchase of bank credit, stock

LSE = LGB +N° LGP + revalf® + OCVEP
Equation 254 Refinancing, flow (this version runs with option 1)
Option 1 (QE, 2007-)
A*RF = A*RFCE — A*RFR

Option 2 (no QE, 1992-2006)

A'RF = A'RES — A"Df — p§j A"Bf — p§ A"Ef — A°Af
+ (ADF + ppiA B + pptA By
+p3, A" B + A'L5 + p} AES + A X}
+ 4028 + pP 1% — SP —Trf + NP + Adj®)

Equation 255 Refinancing, stock
RF = RF_; + A*RF + 0CVyp

Equation 256 Refinancing, other changes in volume (closes OCV for
this instrument)

OCVyr = OCVEE — OCVE:
Equation 257 Refinancing by the central bank, flow
A'RFP = piipyY
Equation 258 Refinancing by the central bank, stock
RFCE = RFC5 + A*RFCB + OCVEE
Equation 259 Domestic equities held, flow

CBrr A+ pCBFR _  _CBFR
Pg, AE;T =g, pyY

Equation 260 Domestic equities held, stock

CBFR

Cc PR
g =t s (2
Ea

Equation 261 Domestic equities held, price

CBFR

pEA exogenous
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Equation 262 Foreign equities held, flow T, = z Ti TR for i=F,B,CB,G H
CBg p+ :CB cB {
P, NEg " = g "pyY
[Operating surplus of the public sector - 16 = VA% — W, — LCy —
Equation 263 Foreign equities held, stock TE + Subf)
CV,lBr Equation 276 Subsidies on production
CBr _ -CB +-CB Eq
EAR—EAf+AEAR+( CBr )
Ea Sub = B VA
Equation 264 Foreign equities held, price Equation 277 Value added taxes
CBR P _
pg," exogenous TP = ypVA

Equation 265 Equation 278 Interests received

pSBAESE = pngA*E:BR + pngRA*EfBFR mté =r§ (D, +p§,BS 1) + TDDﬁf

Equation 266 Other accounts payable/receivable Equation 279 Interests paid

G _ GG ¢ pge G
Z§B exogenous Inty =1 (D_y + Pp,—1 B[4 + L)

Equation 267 Equity issued, stock Equation 280 Dividends received

Div = y5, pE, . ES
PEPE® exogenous r = Vaiv,PEs_1Fa-1

Equation 268 Equity issued, flow Equation 281 Rents received

RENTf =rentf p§, K§_ 4

OCV£E
AECE = AECP — ( ok )
EL Equation 282 Income taxes received
Equation 269 Equity issued, price 7= ZTi for i=F B CB H.R
pEl = g pE® '
Equation 283 Social contributions received
Equation 270 Net wealth = financial wealth
SCE =ScH +sck — Zsci for i = F,B,R
WLTH®® = FW°® = pEBGCE + RF°® + TRGT2 + D§? + pg *By°° R
CB CB,
s, "Bt 4P BR L+ pE B Equation 284 Social benefits paid
ation ocial benefits pai
+ X§B + 2§ — H — RES—D®6—Dg® a P
_ 2 CBECB
P, Ei SBY = 045, pyY
Equation 271 Central bank’s accounting equilibrium (system’s Equation 285 Miscellaneous transfers paid
unwritten identity)
cB, CB TrpG = ﬁgrppr
PEEATGE + ATRGT2 + A"RFF + A'DSP + pp °A'B,,°°
CBg »+ pCB B B i i i
+pg, A B, + pgEATBEE + ALY Equation 286 Disposable income
+ PPN ES” G G G G G ;
YE =VAS —WE —LCS — TF + Subf + Tp + Int’ — Int$ + Dive
= A'H + A"RES+A"DEE+A"DE®e + pEPAELE a p T HEp T T OUBy e T T T U
+ AdjP +INSP + RENTS + T + SCf — SB; — T,

+ T, + Sub + Subf' + T¢B

Government Equation 287 Current public spending (collective and individual)

C¢ =pEY

Equation 272 Wages paid by the public sector Equation 288 Price of current public expenditure

G — GpnG
Wy =wy N Aln(pf) = 1.02AIn(pH)

Equation 273 Labor contributions paid Equation 289 Savings (current public balance)

ch = BLGCVVpG S6 = YdG _ ngG

Equation 274 Labor taxes paid Equation 290 Capital transfers paid

G — G Y6
Ty = BrWy, Trg, =Trg, +Trg + Tr§ —Trd —Trf)

Equation 275 Labor taxes received . o . . .
Equation 291 Acquisitions less disposals of non-financial non-

produced assets



¢ = BippyY
Equation 292 Financing capacity/need
FCN® =S¢ —pf I — pf,, 1§, — NP¢ = Tr,
Equation 293 Investment
IS = ey
Equation 294 Investment, price
Aln(pf) = 1.1AIn(py)
Equation 295 Produced non-financial assets, price
Aln(pg,) = 0.3AIn(pg,-,) + 0.6AIn(pf)
Equation 296 Produced non-financial assets, stock
pi.K§ = (1 - 6%))pk,_ Ki_1 + PR IS + K1 Apg, + OCVE
Equation 297 Non-produced non-financial assets, price
Pk, = Yi,PK,
Equation 298 Non-produced non-financial assets, stock
Pl K§ = pfi, K§_y + Pl 5. + K, Apf, + OCV,
Equation 299 Government’s account vis-a-vis the central bank, stock
chs — l/)ngVAG
Equation 300 Government’s account vis-a-vis the central bank, flow
A*cha — ADfCB _ OCVD(;CB
Equation 301 Deposits received by the government, stock

Df =5, (Df — hm)

Equation 302 Deposits received by the government, flow

A*Df = ADf —revalf, — OCV§,
Equation 303 Deposits, stock
= g, VA
Equation 304 Deposits, flow
A*D§ = AD§ —revalf, — OCVS,

Equation 305 Foreign securities held by the government, stock
PaBa" =V pyY

Equation 306 Foreign securities held by the government, flow

OCVS R
A*BfR:ABfR_< BA)

Gr
Ba

Equation 307 Foreign securities held by the government, price
Gr
Ppy = l/}PBApBL
Equation 308 Other securities held by the government, stock

p§,BS exogenous
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Equation 309 Other securities held by the government, flow

ocvg,
G

By

A"BS = ABS — (

Equation 310 Other securities held by the government, price
Pha = WpsaPh,
Equation 311 Equity held, stock

pEAEA wEAPyY

Equation 312 Equity held, price

GFR GFR GR Gr
Pg — ngR pEA A + pGR pEA A
4 4\ pi,ES i E}

Equation 313 Equity held, flow

ocvg
A'Ef = AE§ — ( G“)

Ea
Equation 314 Domestic equities held by the government, stock
Grr G,
Pe FRE R = I»DEpEA A

Equation 315 Domestic equities held by the government, flow

GFR
A*EEFR — AE:FR _ <0CVEA )

GFR
Eq

Equation 316 Domestic equities held by the government, price
Aln(pEFR) = 0.4AIn(pE®) — 0.5vc_,
ve = ln(pEFR) +0.32 — 0.31In(pfR)
Equation 317 Foreign equities held by the government, stock

pGREGR — pGFREGFR

Pg,,EA
Equation 318 Foreign equities held by the government, price

Gr

pEA exogenous

Equation 319 Foreign equities held government, flow

oCVSr
A*E:R — AEER _< Eg )

G
Py
Equation 320 Profitability of equities held

¢ _ (Ei1BDE, + Dive
B ( pgA_lEg—l )
Equation 321 Financial derivatives held by the government, stock
X§ =g VA®
Equation 322 Financial derivatives held by the government, flow
NX§ = AXF —revalg,

—ocvg,

Equation 323 Total public indebtedness, flow; closes the account of
the government



* *nG * * GR A+ G *
P§.,ABLf = A'D/" + A'D§ + p§,A"B§, + pgtA"By} + p§ AE§
+ AAS + A XS + AZC — ADf + pf 1§
+pf, 152 =S¢ +Trg + NPS — Adj¢

Equation 324 Public bonds (model runs with v1)

1
In(p§,) = —0.39+0.1ln (r_0> vl
L

p§, exogenous V2

Equation 325 Total public indebtedness, stock

OCVBGLL>
ngL

Equation 326 Total public indebtedness, price

BLS = BIS_, + A*BIS + (

Aln(p§,,) = 0.82AIn(p§,)
Equation 327 Bonds issued, stock
p5,BE = w§, phi, BLY {=v§, (v§,Bf +L1)}
Equation 328 Bonds issued, price
ps,  exogenous

Equation 329 Public debt securities held, other changes in volume
(closes OCV for this instrument)

OCVE, = 0CV,® + OCV,7° + OCVy ¢ + 0CV,

Equation 330 Bonds issued, flow

ocvg
A*Bf = ABf — < BL)

G
Pg,

Equation 331 Credit demand, flow
A'L§ = p§,, A'BL] — p§,A"Bf
Equation 332 Credit demand, stock
LE =L§ 1 + LS + revalf, + OCVE

Equation 333 Insurance, pension funds and guarantee schemes,
stock

Af =yipyY

Equation 334 Insurance, pension funds and guarantee schemes, flow
AA§ = AA§ —revalf, — OCV,

Equation 335 Other accounts payable/receivable, stock

Z% =YipyY
Equation 336 Other accounts payable/receivable, flow

AZC =AZC —ocVf

Equation 337 Financial wealth

G G G
FWE = D, + D§ + pptBg® + pf BS, + pf,Eq + A§ + X5 + 2
~ Df —p§,BS - 1f

Equation 338 Net wealth
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WLTH® = p§ K§ + p K, + pi, K5 + FW®

Rest of the world

Equation 339 Labor contributions paid
LCF = B

Equation 340 Import taxes (on value added), paid as a fraction of
imports

T = 9¥PPIMIM
Equation 341 Wages paid
Wf exogenous
Equation 342 Subsidies
Suby = ﬁsRubpva
Equation 343 Interests received
R R
Itk = rR(DR., + pye_ By, +pR,1BS_4 + L5_))
Equation 344 Interests paid
Int? = rf(DF.y + p§,_1BF_4 + LF_,) +7eTGT2_,
Equation 345 Dividends paid
Div,’f = ygivrng_lEf—l
Equation 346 Dividends received

i ,R — i F ia,B :,CB i.R i12F i,B i2,CB
Divy® = Div, + Div, + Div,” + Div, — Divy — Divy — Divy
— Div¢ — Div}

Equation 347 Reinvested earnings on FDI paid
R
RFDIY =r.> pR _E} 4
Equation 348 Reinvested earnings on FDI received
RFDIF =15 pR (ER .

Equation 349 Property income attributed to insurance policy holders
received

INSR = r}AAﬁ_l
Equation 350 Import duties (paid on foreign income)

TR exogenous
Equation 351 Social benefits received

SBf = ﬁ?Brva
Equation 352 Social benefits paid

SB;:? = ﬁSRB,,pyY
Equation 353 Social contributions received

SCR = 6&:(SC} + SCX)

Equation 354 Exports of goods and services (volume)



Px

Dx+

Aln(X) = 0.3AIn(X_,) + 0.4AIn(Y/) — 0.2A ln( ) - 0.14vc_,

ve = In(X) = 1.7 — 0.6 In(Y") + 05 In (::X)

X
Equation 355 Price of exports of goods and services
In(py) = 0.03 + 0.5In(py.) + 0.3 In(py)
Equation 356 Imports of goods and services (volume)
Aln(IM) = 2.2AIn(Y) + 0.5vc_,
vc = In(IM) — 1.8In(Y) + 0.2In(p,y,) + 8.5 — 0.01¢t
Equation 357 Price of imports of goods and services
Aln(p;y) = 0.12AIn(p;y—1) + 0.7AIn(pysy) — 0.45vc_y
ve = In(p;y) — 0.6 In(pysy)
Equation 358 Financing capacity/need — (—) current account

FCN® = pyIM — pxX + W,R — W} + LCF — LCF + TF — Sub®
— Subf + T§ + Int} — Inty + DivF — Div}
+ RFDI} — RFDIF + INSF — TR 4+ SCF
+SBR + Tl + T —Trid,

FCN® = p;yIM — pxX + Orow + W, — WpR +LCE - LCIIJQ — Suby
+ Tr,?p —Trg

Equation 359 Unwritten equilibrium of goods and services with the
rest of the world (S — I — Current account = 0)

ZFCNi =0 fori=F,B,GHR
i

Equation 360 Bills and coins, stock (0 before 2002)
HR =nypyY
Equation 361 Bills and coins, flow
A*HR = AHR — OCVE

Equation 362 Deposits held by foreigners, flow (accumulation rate)

A*DR AY PR
(D‘f_l) = Zg(z) +2 (191 - 191 +

Equation 363 Deposits held by foreigners, stock

ANEER_l)
NEER_,

Df =Df, + A°Df + OCV§,

Equation 364 Refinancing, flow
A*RFR exogenous

Equation 365 Refinancing, stock

RFR = RFR + A*RFR + OCVE:
Equation 366 Public debt securities held by the RoW, flow
A*BLS A*BfS, AY
(BT) = 0.04 — 0.14( SRR ) +22 (E)

A-1 A-2
ANEER)
NEER_,

+ 3.9 iyoyr — T +

Equation 367 Public debt securities held by the RoW, stock
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ocy)s
s = o+l ()
Pg,
Equation 368 Public debt securities held by the RoW, price

ig

ApR6 = BLG*AG— BA‘lA"G for i = F,B,CB
Pp, BFe DB, BFe I , b,

A-1 7 A-1

Equation 369 Other debt securities held by the RoW, flow

A*BR A'BE, AY
) =034 (22 ) + 2.2 (—)
B4 By, Yy

+3.1 (imyr — it 4

ANEER )
NEER_,

Equation 370 Other debt securities held by the RoW, price
Ph, = 15,408,

Equation 371 Other debt securities held by the RoW, stock

0CVE
Bf =B}, +ABf + ( RB’*>

Ba

Equation 372 Loans held by the RoW, flow

A*LR AY
( “) =0.03+ 1.2 (Y—) +13 (i”cr — L 4

R
LA—I -1

ANEER )
NEER_,

Equation 373 Loans held by the RoW, stock
LE = LE_ + A*LE + OCVR

Equation 374 Domestic equities held by the RoWw, flow (includes
inward FDI)

A"E} AY.
( R*‘) = 0.04+0.05(r§A—ny)+0.6( 1)
EA—I Y—Z

Equation 375 Equities, flow-stock

ocvE
AER = NEf + ( E")

R
PE,

Equation 376 Equities held by the RoW, price
EL\ . EJER .
apf, = ( ok, = > () ag
'A-1 'A-1

i J
=F,B,CB & j=F,B,(CB,GH

for i

Equation 377 Profitability of equities held by the Row

R ER 1Apg, + Divf
T, = R pR
pEA_lEA—l

Equation 378 Insurance, pension funds and standardized guarantee
schemes held by the RoW, stock

Af = narpyY

Equation 379 Insurance, pension funds and standardized guarantee
schemes held by the RoW, flow

A*AR = AAE — OCV],

Equation 380 Financial derivatives and employee stock options, stock
(net)

XL = W}?APYY



Equation 381 Financial derivatives and employee stock options, flow
(net)
AXR = AXE — OCVfA
Equation 382 Deposits received by the RoW, stock
Df = Dy + A*Df + revalf, + OCVS,

Equation 383 Deposits received by RoW, closes the rest of the
world’s account

A*DR = A*HR + A*D} + pBGA*BRG +pR,A°BE + A*LE + pR AER
+ A*AR + A*ZR — AdjR — FCNR — pSBA*GB
— A'RFR —pf A*Bf — A°LY — pf A'E}
— A*XR

Equation 384 Debt securities issued by the RoW, flow; closes the line
foreign debt securitities

Ph,ABY = ppot A BY"® + PR A B + porA B + ph "B
+ kaA*BHk

Equation 385 Debt securities issued by the RoW, price (xr = bilateral
€/$ exchange rate)

PR, =Dpp *xr
Equation 386 Debt securities issued by the RoW, stock

OCVE
R

BL

Bf = Bf, + A"Bf + <

Equation 387 Debt securities issued by the RoW, other changes in
volume (closes OCV for this instrument)

OCVE = Zocvgj for i= F,B,CB,G, H
i

Equation 388 Credit demand by the RoW, flow (accumulation rate)

A*LR AY*
R =19 (—*>
Li Y

Equation 389 Credit demand by the RoW, stock

LY =L} 1 + ALY + revalf, + OCVR

Equation 390 Foreign equities held by domestic agents, stock
(includes outward FDI)
0CV£>
Pk,

Equation 391 Foreign equities held by domestic agents, flow
(includes outward FDI), value

Ef = Ef, + N'EFf + <

PRAER = pifAERR + pitA ERR + ppitATESPR + pptATEGH
+ pERA*EHR

Equation 392 Foreign equities held by domestic agents, flow
(includes outward FDI), volume

A'E
AER = (pEL L)
PEL
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Equation 393 Foreign equities held by domestic agents, other changes
in volume (closes OCV for this instrument)

OCVE = ZOCVE"R for i = F,B,CB,G,H
A

i

Equation 394 Foreign equities held by domestic agents, price

(includes outward FDI)
ER,

Ang:Z< S >Ap for i = F,B,CB,G,H

Elq

Equation 395 Profitability of equities issued by the Row

oE = (Ef_lipg -:Div{f)
L pE,__lEL—l

Equation 396 Target 2
TRGT2 exogenous

Equation 397 Monetary gold and Special Drawing Rights, stock

C
G = GEF + A*GCP + (OCC"g B)
P

Equation 398 Monetary gold and Special Drawing Rights, flow
pEEA*GCE  exogenous
Equation 399 Monetary gold and Special Drawing Rights, price
Aln(pg?) = 0.5AIn(pgera) — 0.5vc_,
ve = In(pE¥) — 0.98In(pyoia)
Equation 400 Other accounts payable/receivable, stock
ZR = ZR + A*ZR + OCVE

Equation 401 Other accounts payable/receivable, flow; closes the
instrument

A*ZR=—ZA*Zi for i= F,B,G,H

Equation 402 Other accounts payable/receivable, other changes in
volume (closes OCV for this instrument)

oCVE =—ZOCVZi for i= F,B,G,H

Equation 403 Net wealth

WLTHR = HR + p8 D% + RF + pyS B¢ + p§ BE + L% + pR EX
+ AR+ XR+ZF — peBGeE — pDLDf
—TRGT2 — p§ BY — L} — p} E}

Prices, wages, employment and interest rates

Equation 404 General price index

Aln(py) = 0.01 + 0.4AIn(ULC) + 0.3GAP + 0.03AIn(p;p_1)
— 0.4vc_;

ve =In(py) — 0.4 — 0.9In(ULC)



Equation 405 Unit labor costs, market sector

M M Hym M
ULCMz(W + LC +LCWp +TL>

vaM

Note: LCM = LCF + LCF + LCY and TL"; = TLFp + Tﬁ? + T,f: and
Lew,™ = gH.w™

Equation 406 Wages paid, market sector
WM = wMNSm

Equation 407 Total wages paid in France
w=w"+ WpG

Equation 408 Employment in the market sector (salaried + non-
salaried)

Aln(NM) = 0.5AIn(N™) + 0.5AIn(va™) — 0.08vc *_,

Ve *

= In(N™) —<

In(va) — 0.8 — 0.5 In(KM) — 0.014¢ + 0.01t1992>
1-05

Equation 409 Non-salaried workers (total household employment =
salaried + non-salaried), market sector

NNS — NM _NSM

Equation 410 Salaried employment, share of total employment
(market sector)

NSM
In (N_M) = 3.9+ 0.009t — 0.01t,000-2019
Equation 411 Firms’ workers
NF = NM — NB — NH
Equation 412 Total employment
N =N"+ N
Equation 413 Salaried workers, households
NHs = NH — NNS
Equation 414 Public sector (i.e. non-market sector) workers
N¢ = NV exogenous
Equation 415 Banks and households workers
Ni=yiN™ for i=B,H
Equation 416 Wage per worker, market sector
Aln (1V\1/TM) = Aln(w™)

M
=0.005 + 0.5AIn(w™) + 0.4AIn(p4)

vaM va,
+ 0.43A1n N —0.38A1n N

-1

—0.2vc_4

vaM
vc = In(wM) — 0.9AIn(p¥) + 0.1In(w) — 0.7A1n (W)
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Equation 417 Wage per worker paid by firms
Aln(w}) = 0.4AIn(w)_,) + 1.01AIn(w™) — 0.4AIn(w™,)
Equation 418 Wage per worker paid by banks
Aln(w?) = 1.06AIn(w™) — 0.17vc_,
ve = In(wf) + 1 - 1.12In(w™)
Equation 419 Wage per worker paid by the public sector
Aln(wf) = 0.45AIn(wg_,) + 0.53AIn(w™) — 0.17vc_,
ve =In(wf) + 0.2 — 1.02In(w™)

Equation 420 Output gap

M
va” — va?
gap =
vapPM

Equation 421 Potential output; potential value added in volume
(model runs with option 2)

Option 1

Option 2

1

va” KM
In 5 | = 0.8+ 0.5In( 157 | + 0.014¢ = 0016100, 5019

M M

Equation 422 Produced non-financial assets of the market sector,
stock

KM = K{ + K + K
Equation 423 Unemployment (number of unemployed)
U=AP—-N

Equation 424 Unemployment rate

Equation 425 Active population
Aln(AP) = 0.4AIn(N) + 0.4AIn(TAP) — 0.2vc_,
vc =1In(AP) — 0.37In(N) — 0.56 In(TAP) — 0.002¢t
Equation 426 Interest rate received by firms
74 = 3.6 + 0.631¢
Equation 427 Interest rate received by households
il = 1.6 + 0.57¢
Equation 428 Interest rate paid by firms

rf = 1.6 4 0.7i10yys
Equation 429 Interest rate received by banks

72 =04+ 0572, +0.4i50y,
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Equation 430 Interest rate paid by banks Equation 435 Interest rate on credit, long-term

= 0.9+ 0.9y itTer = 0, 93i10yrs
Equation 431 Interest rate received by the government Equation 436 Interest rate on deposits, short-term

rf =25+ 1.6r¢ rp = 1.4+ 0.57¢
Equation 432 Interest rate paid by the government Equation 437 Interest rate ECB
f =09+ 0.851gyrs Te =Tcp

Equation 433 Interest rate paid by households Equation 438 Long-term interest rate, 10 years (OECD)

8 = 0.9i10yrs itTer = 0.931059yps

Equation 434 Interest rate received by the rest of the world

R _ ; R
Ty = llOyears + KTA

Exogenous parameters and variables

Note: exogenous parameters change over time (thus, they do not have a single-value), depending on the values of the variables of the
corresponding equations they belong to. Example, afl, (in Equation 5) is calculated as all, = VAH (VA — VAE — VA®), so that the
parameter varies across periods. In the projections, they are given the last value.

H B .G pF pF F F _F _F F gF ,F gF gF gF QF FER | )F .1 F
Ay 4, Aoar Ay 4y Bics Pris Yaiv,» Vaiv,. TFpD Ta 0 renty, 0r, VsBy» Osc, 9'rrp' GNP;,' 07k, 0 p,(l' 51(1' ‘l’pBAr Yra, ‘l’pBAr l»prA' Mg, W Va, 63,65, PEL’ Bl Bty

H o H H H gH gH gH pgH pH sH 1 H HFR o H pB. pB pB B B .B .B B gpB pB pB
BSubsrl Yaiv, Tag TeNty, 07, O, ‘95pr HNPp' OTr Ok, Wh» IPBA , pBA' IPBA' ‘l’pBAr Nppar Wz Bic, Brus ﬁSubrr Ydiv,» Ydiv,» TFD1,4 TFDI> 0r, Osc, 95pr 01,

BFR CBR
BTTP 9NP' 9TrKv6K1'l/}pK2v1/}H' wD'lp 1!’ wEAlanAr pE,_lll}BArKrA: K,.A, KrL: Kr,_» KrLr KTL' KTL' KrA: }/DA’}/DL’aFORRES’ypBA'VPEA'yBA'ypEA’}/LA’
CBrgr _CBR t6 96 GcB ,1,G G Gr OR
(pRF'(pE ' P V088, 088, Bie, BEy, Bsups Vrr, Y, entf, 65y ﬂc»ﬂNP:[”h:ll’pm:l/} Yo VD 0 Ve, ll/}pBArlpEll/}XArlpBL'lpA!lpA'BLC! Tpr
A A e P’ A PBA

R R .
R R 4 T R R R R R R R R R2 R i 2%
ﬂsubp' yDivr! TFDI‘ rFDII rAAr ﬂSBrr BSBpr QSCr NurMRF» 773,1' anAr Nar nXAr nDLr r]OCVDL' Ps, nLLr 148 et

Exogenous variables: Subf Iz,pER 12,pngR,pBABA,pEj,pBL,WR TR, A*RFR, TRGT2,pSEA*GCE, NS, N'M

Simulations

Observed vs simulated

Figure 1 GDP and components

Observed vs baseline, simulations start in 1996 solved with Newton’s algorithm

The graphs for behavioral equations (py, C?, I, A*KF, X, py, IM, p;3,) display the observed series (blue) and
the simulated series (red). The graphs of the remaining series (mainly the identities Y, pyY, pZ, GAP and other
ratios) display observed left-hand side of the equation (blue), observed right-hand side (red) and simulated
series (green).
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Scenarios

Figure 2 Scenarios vs baseline (shocks start in 2021)

Baseline series compared to after-shock series (%), simulations start in 2019 solved with Newton’s algorithm

Top left 2 1% increase in firms’ accumulation rate / 5% increase in household consumption / 5% in wage per worker
growth

Top right = permanent 1% increase in the interest rate (10 year treasury & ECB rate + 10 year)
Middle left = 5% of GDP increase in public investment (permanent + one-shot)

Middle right = 5% of GDP increase in helicopter money with public investment (permanent + one-shot) / 5% of GDP
recapitalization

Bottom left = 15% of GDP public debt cancellation (pure v 5% of GDP increase in public investment)

Bottom right = 5% of GDP increase in helicopter money (pure v CB transfer to the government v 5% of GDP increase in
public investment v social benefits)
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